
Check-up 3: Tangent lines with the Difference Quotient

Find the slope of the tangent line using the 1st difference quotient,
𝑥 𝑎
lim
→

𝑓(𝑥)−𝑓(𝑎)
𝑥−𝑎

1. at𝑓(𝑥) = 2𝑥2 − 5𝑥 + 3 𝑥 = 3

Find the equation of the tangent line using the 1st difference quotient,
𝑥 𝑎
lim
→

𝑓(𝑥)−𝑓(𝑎)
𝑥−𝑎

2. at𝑓(𝑥) = 2
𝑥−1 𝑥 = 5

Find the slope of the tangent line using the 2nd difference quotient,
ℎ 0
lim
→

𝑓(𝑥+ℎ)−𝑓(𝑥)
ℎ

3. at𝑓(𝑥) = 𝑥 + 4 𝑥 = 16

Find the equation of the tangent line using the 2nd difference quotient,
ℎ 0
lim
→

𝑓(𝑥+ℎ)−𝑓(𝑥)
ℎ

4. at𝑓(𝑥) = 𝑠𝑖𝑛(𝑥) 𝑥 = π
2

Find the equation of the tangent line using the 2nd difference quotient,
ℎ 0
lim
→

𝑓(𝑥+ℎ)−𝑓(𝑥)
ℎ

5. at𝑓(𝑥) = 𝑐𝑜𝑠(𝑥) 𝑥 = π


